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Chapter 8 Practice Quiz 1 – Motion and Velocity
1. Which of the following units is associated with t?

a) s

b) m

c) km

d) m/s
2. Which of the following describes a scalar quantity?

a) it has direction only

b) it has magnitude only

c) it is the size of a quantity

d) it has both direction and magnitude

Use the following motion diagram representing a ball moving across a horizontal table to answer question 3
[image: image18.emf]
3. Which of the following statements are descriptions of the motion of the ball?

[image: image2.emf]
a) I and II only

b) I and III only

c) II and III only

d) I, II, and III

4. Which two terms represent a vector quantity and the scalar quantity of the vector’s magnitude, respectively?

a) velocity and speed

b) time and time interval

c) acceleration and velocity

d) position and displacement

5. How long would a meteor, with a velocity of 45 km/s, take to travel 120 km through Earth’s atmosphere to Earth’s surface? Assume no atmospheric friction.

a) 0.375 s

b) 2.66 s

c) 45 s

d) 5400 s
Use the following position-time graphs to answer question 6
[image: image3.emf]
6. Which of the graphs above show uniform motion?

a) I and II only 
b) I and III only 
c) II and III only

d) I, II, and III

Use the following position - time graph to answer questions 7 - 10
[image: image4.emf]
Match each Descriptor below with the corresponding part of the Graph shown above.

7. has an average velocity of 0 m/s

B
8. has an average velocity of 1 m/s [N]
C
9. has an average velocity of 2 m/s [N]
A
10. has an average velocity of 7 m/s [S]
D
11. It took 0.45 s for a fastball to reach the batter. If the pitcher is 18 m away from the batter, how fast was the fastball pitch?

a) 0.025 m/s

b) 8.1 m/s

c) 18 m/s

d) 40 m/s

12. The average velocity of a plane was 600 km/h [N]. How long did it take the plane to travel 120 km?

a) 0.2 min

b) 5 min

c) 12 min

d) 5.0 h
[image: image1.emf][image: image14.emf][image: image15.emf]13. Which of the following graphs represent the motion of an object with a constant velocity?

a) I and II only

b) I and III only

c) II and III only

d) I, II, and III

14. A Canada goose flew 860 km from Washington to British Columbia with an average velocity of 30.5 m/s [N]. Approximately how long did it take the goose to make its journey?

a) 0.04 h

b) 7.8 h

c) 28.2 h

d) 469.9 h
15. An odometer in a car has a reading of 50 km at the beginning of a trip and a reading of 125 km half an hour later. What is the average speed of the car?

a) 3.75 km/h

b) 62.5 km/h

c) 150 km/h

d) 250 km/h

Use the following position-time graph of the motion of an object to answer questions 16 to 18.

[image: image5.emf]
16. During which time interval is the object moving towards the origin?

a) interval A

b) interval B

c) interval C

d) interval D
17. What is the average velocity between 0.6 h and 1 h?

a) +0.4 km/h

b) +1.25 km/h

c) +1.66 km/h

d) +2.5 km/h

18. What is the object’s displacement between 0.4 h and 0.6 h?

a) –0.75 km

b) +0.25 km

c) +0.75 km

d) +1.0 km

Match the term on the left with the best descriptor on the right. Each descriptor may be used only once.
	Term
	Descriptor

	19. distance
E
	a. also known as origin



	20. position
D
	b. the size of measurement



	21. magnitude
B
	c. “change in” or “difference”



	22. displacement
G
	d. a specific point or location relative to a reference point

	23. time interval
F
	e. the total length of a path between two points



	24. location
A
	f. the difference between initial time and the final time

	25. Greek letter delta 
C
	g. the straight line distance and direction from one point to another.


26. Which of the following is an appropriate unit for velocity?

a) s

b) m

c) m/s2
d) km/h

27. Which of the following symbols represents a change in quantity?

a) 
b) 
c) 
d) 
28. The following distance–time graph shows a 100 m race among three friends.

[image: image6.emf]
What was the outcome of the race?

a) Al won the race.

b) Bob won the race.

c) Charlie won the race.

d) The race was a three-way tie.

29. Which of the following statements describe the relationship among displacement, time interval and average velocity for an object travelling in uniform motion?

[image: image7.emf]
a) I and II only

b) I and III only

c) II and III only

d) I, II and III

Use the following information to answer questions 30 and 31
The data represents the motion of a girl riding her skateboard along a smooth, pedestrian-free sidewalk.

You may find it useful to graph the data in the table on the grid provided.

[image: image16.emf][image: image17.emf]
30. What does the slope of the line represent?

a) the distance the skateboarder travelled

b) the average velocity of the skateboarder

c) the path taken by the skateboarder, as she is moving up a hill

d) the most likely positions of the skateboarder at the times between the recorded data points

31. How far did the girl move during 3 s?

a) 3.0 m

b) 4.5 m

c) 6.0 m

d) 9.0 m

Use the following position vs. time graph to answer question 32
[image: image8.emf]
32. Which of the following describes the situation shown above?

a) Object B has a lower velocity.

b) Object B has a higher velocity.

c) Both objects travelled the same distance.

d) Both objects started at the same location.

Plot the data given in the table onto the grid to answer question 33
[image: image9.emf]
33. What is the displacement after 5 s if the object continues to travel uniformly?

a) 5 m

b) 10 m

c) 50 m

d) 250 m

34. The Eurotunnel connects Great Britain and France, passing under the English Channel. A train leaves France with an average velocity of 110 km h and travels 37 km in the tunnel. How long is the train in the tunnel?

a) 20 min

b) 68 min

c) 244 min

d) 4070 min


Use the following position vs. time graph to answer question 35
[image: image10.emf]
35. What distance is travelled in the first 15 hours?

a) 0 km

b) 60 km

c) 120 km

d) 180 km

Use the following position vs. time graph to answer question 36
[image: image11.emf]
36. Ray and Mark are running on a track and a sample of their progress is plotted on a graph.

Which of the following statements are supported by the graph?

[image: image12.emf]
a) I only

b) III only

c) I and II only

d) I and III only

Use the following position vs. time graph to answer question 37
[image: image13.emf]
37. The graph shows the displacement of a skateboarder on a sidewalk. What is the average velocity of the skateboarder in the interval between 2 and 4 seconds?

a) 0.5 m/s

b) 2 m/s

c) 4 m/s

d) 8 m/s

